Beispiel 3

Legende:

* Objekt

Pu = punktférmiges Objekt
Li = linienférmiges Objekt
FI = flachenformiges Objekt

* zu belegende Modellarten
LK =DLKM
KO =NWDKOM

ABK = NWABK

AX-Weg (42006)
Funktion: sonstiges
Fl | LK, KO, ABK

+
AX-Vegetationsmerkmal (54001)
Bewuchs: z.B. Gras

F | LK, KO

AX-BauwerklmGewaesserbereich (53009)

Bauwerksfunktion: Rohrdurchlass
Li |

AX-Landwirtschaft (43003)
Vegetationsmerkmal: Ackerland
LK, KO, ABK

AX-Landwirtschaft (43003)
Vegetationsmerkmal: Ackerland
Fl | LK, KO, ABK

AX-Fliessgewasser (44001)
Funktion: Graben

FI | LK, KO, ABK
AX-Weg (42006)
Funktion: Fahrweg
Fl | LK, KO, ABK
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AX-Gehdlz (43003)
\f_{egetationsmerkmal: (nich}t( belegt)

+
AX-DammWallDeich (61003)
Art: Knickmitte

Li ABK

AX-Landwirtschaft (43001)
Vegetationsmerkmal: Ackerland
| LK, KO, ABK




